;> restart
> SolGral := y(x) =C,-exp(2-x) + C,-exp(-2-x) + C5-exp(3-x) + C,-exp(-3-x)

SolGral == y(x) =C1 €2x+C2 C_2x+C3 e3x+C4 e_3x (1)
(> Sistema == diff (SolGral, x), diff (SolGral, x$2), diff (SolGral, x$3), diff (SolGral, x$4) :

Sistema,; Sistema,; Sistemas; Sistema,

d _ 2 -2 3 -3
Ey(x)—ZCIex—2Cze T+3C e =3Ce "
d2
Y =4G & +4C, e +9C e +9C, e
d3 _ 2x -2x 3x -3x
Ey(x)—SCle —8C,e TH+27TCe" =27Cye
4
%y(x) =16 C, e +16 C,e ¥ +81 C;¢ " + 81 Cye " @)
=> Parametro = Solve( {Sistema}, {C Gy G5, C 4}) : Parametro; Parametro,, Parametros;
Parametro,;
d & & d'
18 (—y(x)j —2 (—y(X)j +9 [—y(x)) — [—y(X)j
o 0 dx P & &
140 2%
d & & d'
18 (—y(X)) —2 (—y(x)j -9 [—y(x)j Ty
c 1 dx FIE I &
240 e 2%
d & & d*
. 12 (ay(X)) —3 [@y(w) +4 (&y(mj - [—4y(X)j
Cy=-—— ;
90 R
d & ¢ 4
12 (40 ) =3 (—3y(x)] —4 (—zym] + 4 )
c_ L dx dx dx dx 3
490 o 3% )

(> Ecuacionlnicial == subs( C,= rhs(Pammetro1 ) , G, = rhs(Parametroz) , Gy
=rhs ( Parametro, ) , Cy=rhs ( Parametr04) , SolGral)

2 4
Ecuacionlnicial .= y(x) = % i y(x) — 3L6 ﬁ y(x) C))

_> EcuacionFinal = lhs(Ecuacionlnicial) -36 — rhs(Ecuacionlnicial) -36 =0

— & d*
EcuacionFinal :=36 y(x) — 13 (@ y(x)) + E y(x)=0 Q)

| > restart

> Ecuacion :=y"-3y"+3y'-y=0
3 2

Ecuacion = d—3 y(x)—3 (d—z y(x)] +3 (— y(x)) —y(x)=0 (6)
dx dx




> Solucion = dsolve(Ecuacion)
Solucion=y(x) = Cle'+ C2&x+ C3ex

> restart
> FEcuacion :=y"+6)y"+21y'+26y=0
&’ & d
Ecuacion = ﬁy(x) +6 [gy(x)) +21 (ay(x)) +26y(x) =0

> Solucion = dsolve(Ecuacion)
Solucion:=y(x) = Cle 4+ C2e*"sin(3x) +_C3 e **cos(3 x)
> restart
> FEcuacCarac = expand((m —51)--2-(m+51)--2)=0
EcuacCarac = m* + 625 + 50 m> =0

> Ecuacion = y""+ 50 y"+ 625y =0
4 2

d d
Ecuacion .= —5 y(x) +50 | — y(x)j +625y(x) =0
dx’ ( dx?

> SolucionGeneral = dsolve( Ecuacion)
SolucionGeneral :=y(x) = _Clsin(5x) + C2cos(5x) + C3sin(5x)x+ C4cos(5x)x

)
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®
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